14" C515 FLG X FLG 14" C515 MJ X MJ 14" C515 TYTON X TYTON
- 26.69 - - 14.75
= ] ‘ | T i 26.69 - - 1484— i 26.69 ] ~——14.75——
MﬁIHI i L I — ? —J \ L —
- $20.25-+ ks
| 17.
17.88 UtA / ¢ 17885 C} o |4 88 /
Qﬁ ; ’ \ \ ‘ \,_ 2% \% | N
- <ﬁ> ' ' e N (A | !
- \ [ax) @]
) | | 10.13 [ax) 9.06
J § . | |
10.50 /( — S | 1 g
| -9.00— S
\ | | 0.91 | -—8.50 -—10.50— >/
- 138 4 - 21.00 -
el 7 - 17.00—- - 20.30 -
FLG END: 12 XD 1.13 HOLES 6.75=-/.50 MJ END: 6 X .88 HOLES . o 1o\
ANSI B16.1 ON 0 18.75 B.C 3 15.00 _ ANSI A21.11 4X 7 0.88 SLOTS 55 2 X 7 1.00 HOLES
AWWA C110 YT AWWA C111
14" C515 MJ X TAP
14" C515 FLG X MJ — 1484 -
26.69 - -~ 14.84— i 26.67 ]
- \ ] I | : . , , I ‘
”‘ > 7 21.00— 1— 0 20.24 17.88
$21.00— N\ ~02025  17.88[] c};FLw I plass L
B L RAISED FACE
\ m_ \ % L % 1 ;
/@/ 10.50 k 1 10.12 10.50 K
; \ ﬂ — i 12 X®1.13 HOLES—%; j X Eé>(.)8888HSOCL)ESS i ﬁ
ON ¢ 18.75B.C. \ — X 1 0.88 SLOT
ON ©18.75B.C. L
12 X0 1.13 HOLES 6 X 88 HOLES 1.38+ = — 091 ’ ON ¢ 18.75B.C. (0.25R.F. - 0.86
ON ©18.75B.C. 4 X 0.88 SLOTS - 8.50—--—8.50— ad o L . 850~
. 17 00 TAP END: MJ END: ‘ aca
FLG END: MJ END: ANSI B16.1 ANSIAZ].11 ——8.501 7.00
ANSI B16.1 ANSI A21.11 CLASS 125 AWWA C111 :
CLASS 125 AWWA C111 AWWA C110 p—
AWWA C] ]O s6r FRACTIONS: = 1/64 14" C515 OS&Y RESILIENT WEDGE WEUECD.—
v | e T | LBS.| GATE VALVE T - 2

MIN RADIUS:
MIN DRAFT:

+1/8" RADII:

(CHK DATE:

: CHK. BY
CW 12/3/2020

EEEEEEEEEE

1:6

SSSSSSSSSSSS

Solidworks 2018 SP2

SHEET OF | )




H J K L P R S T \%
. 1
5 2
3 == 3
4 == 4
] .
5 == 5
6 e 6
L 1
k A ~—1 !
: | CLowW )
s 8
0 9
10 10
H 60.69 CLOS H
T
56.32 =
-
12 B 12
59.63 —
13
3 I L] 7 5
14
[ L 7 1 I | I 1 I ] I 1N
a - 1
15
16
17
18 1 1 !
19
20
[ROUGH PTNO. [FINISHED PT N
THIRD ANGLE PROJECTION. PROPERTY OF MCWANE CORPORATION. |
STANDARDS: ANSI/ASME Y14.100, Y14.5M, AND Y14.41 Q%\;/AE’LDEELCS&';%E/E%E\@%OI%gGABESF‘gm‘RIOEFS' ARE PROPRIETARY TO -
TOLERANCES AS FOLLOWS UNLESS OTHERWISE SPECIFIED. DESTRUCTION REQUIRED UPON COMPLETION OF DIRECTED USE UNLESS [ REERENCE (EVEION CL w
CASTNG TOLERANGES A CTINED DIVENSIONS OTHERWISE ARRANGED. ALL RIGHTS RESERVED. E b “.f 4 .
1 04 +1/32" MATERIAL DESCRIPTION GALVE CO.
e L3 DECIMALS: +0.005 N
e o | macrons: s 1ves 14" C515 OS&Y RESILIENT WEDGE
-12" 116" ANGLE: £1° ESTIMATED WEIGHT SHEET SIZE
) s conz | SURACE PN 125y LBS.| GATE VALVE 2 21
18.UP™ £1/8" RADII: 1/8" . SHEET OF
MIN RADILS: - e DRW BY: DATE DRAWN: _JCHK. BY CHK DATE: SHEET SCALE SOFTWARE USED
MINRADLS: 20 CwW 12/3/2020 1:5 Solidworks 2018 P2 | 4




K Q R S T \Y%
] 1
2 2
8 3
4 4
5 5
I~
¢ )
~
7 || | | 7
N
8 || 8
>
| 1]
[t}
? 9
| [
10 , ”\ / 10
|4
11 I
12 12
—~
|
13
14
15
16
L —
17
N1
18
19
20
[ROUGH PTNO. [FINISHED PT N
THIRD ANGLE PROJECTION. PROPERTY OF MCWANE CORPORATION.
STANDARDS: ANSI/ASME Y14.100, Y14.5M, AND Y14.41 ALL MODELS AND DERIVITIVE DOCUMENTATION ARE PROPRIETARY TO
TOLERANCES AS FOLLOWS UNLESS OTHERWISE SPECIFIED. DESTRUCTION REQUIRED UPON COMPLETION OF DIRECTED USE UNLESS [ REERENCE REVISION CL\J“W
CASTING TOLERANCES MACHINED DIMENSIONS OTHERWISE ARRANGED. AL RIGHTS RESERVED. E VALVE COL
0-4": +1/32" MATERIAL [DESCRIPTION '-":""- l"-' L- -
e L3 DECIMALS: +0.005 N
sz st | Ao /e 14" C515 OS&Y RESILIENT WEDGE
-12": * " ANGLE: £1° ESTIMATED WEIGHT SHEET SIZE
. s coz | SURPACERNSH 125uin L BS.| GATE VALVE 3 21
18-UP": +1/8" RADI: 178" : SHEET OF
DRW BY: [DATE DRAWN: _ |CHK. BY CHK DATE: SHEET SCALE SOFTWARE USED
MIN RADIUS: /8"

MIN DRAFT: 2°

CwW 12/3/2020

1:5

Solidworks 2018 SP2

4




I R I : I ! I

ITEM STANDARD
NO. COMPONENT QTY. SIZE MATERIAL MATERIAL OPTIONS

] BODY ] DUCTILE IRON -

2 WEDGE ] EPDM/DUCTILE IRON -

3 STEM ] C 46400 C87600 (LOW ZINC), 304 SS, 316 SS
4 STEM NUT ] C87850 C86710 (LOW ZINC)
5 O-RING ] #325 EPDM BUNA-N

6 COILED SPRING PIN ] 1/2" x 2-3/4" 303 SS

7 O-RING ] #463 EPDM BUNA-N

8 COVER ] DUCTILE IRON -

9 SPACER ] C87850 .

10 HANDWHEEL ] DUCTILE IRON -

11 STUFFBOX ] DUCTILE IRON -

12 BUSHING ] C87850 .

13 PACKING GLAND ] C87850 C83600, C65500 (LOW ZINC)
14 FOLLOWER ] DUCTILE IRON i

15 PLUG ] 1/2" NPT 18-8 SS 316 SS

16 YOKE ] DUCTILE IRON i

17 OS&Y TOP STEM NUT ] C26000 .

18 KEY ] 3/8" X 3/8" X 1-3/4" 18-8 SS 316 SS

19 OS&Y NUT RETAINER ] DUCTILE IRON i
20 FLAT WASHER 12 3/4" 18-8 SS 316 SS
21 HEX NUT 12 3/4"- 10 18-8 SS 316 SS
22 CAPSCREW HEX HEAD 12 3/4"- 10 X 3-3/4" 18-8 SS 316 SS
23 CAPSCREW HEX HEAD 4 7/8"-9 X 4" 18-8 SS 316 SS
24 HEX NUT 4 7/8"-9 18-8 SS 316 SS
25 STUD 2 5/8"-11 X 3-1/2" 18-8 SS 316 SS
26 CAPSCREW HEX HEAD 8 5/8"- 11 X 3-3/4" 18-8 SS 316 SS
27 HEX NUT 8 5/8" - 11 18-8 SS 316 SS
28 HEX NUT 2 5/8" - 11 18-8 SS 316 SS
29 O-RING ] #425 EPDM BUNA-N
30 OS&Y HOLD DOWN NUT ] C87850 .
31 CAPSCREW HEX HEAD 4 5/8'-11 X 2" 18-8 SS 316 SS
32 PACKING 3 1/2" X 1/2" X 6 1/2" BRAIDED FLAX i

VALVES CONFORM WITH THE
FOLLOWING STANDARDS

e AWWA C515

* NSF 61

e LOW ZINC BRASS STEM AND STEM
NUT AVAILABLE

e 100% DOMESTIC FASTENERS AND
ORINGS OPTIONS AVAILABLE

e OPEN LEFT (COUNTERCLOCKWISE)
AND OPEN RIGHT (CLOCKWISE)
OPTIONS AVAILABLE

e TURNS TO OPEN FROM FULLY
CLOSED: 52

 AWWA MAXIMUM ALLOWABLE
CLOSING TORQUE 250 FT-LBS

* MAXIMUM PRESSURE RATING 250 PJlI

2443| BLS |03/10/25

2365| CJS |06/24/24

CW 101/04/22

CW |09/30/21

CW 112/03/20

REV.|[ECN| DR | DATE

EEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEE

18-UP™: _ w18 RADE I ey T [DATE DRAWN T [ChK BY CHK DATE T |esomE S [ronwAResED D
MIN RADIUS : e cw | 12/3/202 1:10 Solidworks 2018 SP2 | 4

MIN DRAFT:

TTTTTTTTTTTTTTTTTTTT . PROPERTY OF MCWANE CORPORATION. N
TOLERANCES AS FOLLOWS UNLESS OTHERWISE SPECIHED, | MCWANE CORPORATION AND TS SUESIDIARIES . 2P
| DESTRUCTION REQUIRED UPON COMPLETION OF DIRECTED USE UNLESS [ Rererence —— [evson c I. w
CASTING TOLERANG OTHERWISE ARRANGED. ALL RIGHTS RESERVED. E e
0-4":
8"

ES: ar MACHINED DIMENSIONS Sk —— — VALVE I;D
ol BTy 14" C515 OS&Y RESILIENT WEDGE

EEEEEEEEEEEEEEE

116" | ANGLE : +1o [BWMATEDWEGHT o ne |l~AaTevsAalNne I A Tremsie
337 | SUReACE FIiSH 125 in LBS.| GATE VALVE 4 21
£1/8" : 1/8" SHEET OF




	BODY DIMS
	Drawing View45
	Drawing View46
	Drawing View47
	Drawing View48
	Drawing View49
	Drawing View50
	Drawing View51
	Drawing View52
	Drawing View53
	Drawing View54
	Drawing View55
	Drawing View56

	OS&Y ASSEMBLY
	Drawing View34
	Alternate Position1

	BOM BALLOONED
	Drawing View35
	Section View C-C
	Drawing View58
	Section View E-E
	Detail View F (1 : 1.5)

	BOM MATL LIST

